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Which of the following is not a factor of the ¢ olal juadll SOl e el L s
expression below?

40zyx —48xyz — 24 xy

2xy ]




/b_. lALGEBRA \

Complex Numbers

Ifi = /-1, then ¢'® =?

A. -1
B. 1
C.1
D. —i
E.0
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Complex Numbers

If : = /=1, then (5 + 2i)? =?

A. 21 + 20z
B. 21 — 20
C
D

. —21 + 201
. 29 — 201
E. 29 4 20z
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Complex Numbers

If i = /-1, then i3 +3° 4+ i7" 4+ =7

A. —27
B. 24
C.0
D. 1
E. -4
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TMIRATES SCHOOLS ESTARLISHMENT Which of the fnlinmng is EQUWH'GH* to the !..J..J.I Aiadl J. 3 'J}] ]__.‘ :’“! JJ.'.' (D ..,f" ——— e
value of the digit 3 in the number below?

\'J 3 x 100

( 3x10
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Find uﬁﬂ

f(312+2x- 1) dx

6x2 42

6x2+2+¢

x3+x3-x+c

—- . -

3
?13+213—x+f

—




if f{x) is & continuous funchionon | =1 20 | path e Aliate 43l fix) A e
: .1 =1 20
FAATES SEHOOLS ESTARUISHANAT The table below shows some « values and ,[ _ I e —
corresponding f{x) Fln) ady x pd _cans s g slsdl [ goad
g el
How many roots ( values of x where f(x) =0 the S A sl ) flx) 0D s s S
function f(x) hason[ -1 20]7? -1 20]v 40 A fix) =0 K
X
-1 -3
7 n
12 -5
20 12
Twao roots o -
Three roots IO
One root daly =

No roots g 2 Y
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What is the average rate of change of the § 5l bolsl Aall padl) Jone o gie
function given below on the closed interval ¢ [0 ,3] 4a
[0, 3]?
f(x)=x*-5x
33
22 |
85 ']

87
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fﬁb Use the graph of f{x) shown below to e a3l s f(x) A S aaan e
faniares sewoots esanuseurr  d@t@MIne lim f(x) lim fix) ...
X-=2" X-2=
ix)

Does not exist
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Which of the following expressions can be i e Aelitid S A2 ket po pai gl T
used to caiculate the siope of the line tangent tx = 3 dio st daus gl Al bl aikid)
to the function shown below at x=3 : S el
s
T 1.4
x2 9 2 9
lim lim
x=0 X yu3 X=3
i
1 1 f 1%
2 3 | 7 "3
lim — lim —
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(v=4°

vor @ i A

(24)°

16777216

16777216
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i 20 el o il Which lable represents a function?

IRIBATES SCHOOLE ESTARLIGHMINT

X y x y
2 |4 1.2

0 | 2 [1 1 3

2 | 4 | ENIEN

4 | 6 1| 5

X |y x | vy “

2 | -3 -3 0

3 n_l 2 | 1
RE 3 | 2

2 1|
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Simplify the expression. Sl il dals

2(-20) + 3[%(-20}} + 5[%(50)] +4(50)

Answer: [ ] ddaw
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What is the value of the expression below? o el il
72-3x(4+2)+15+5

| 58 2

43 '_I
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For x > 0, which expression is equivalent to el i) S i g x>0 pkd
the expression below?
.y !’2 _J 1,5
¥x
w10 X
2 . P, I
.6 | 3
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A polynomial function f(x) defineon[a b | fa p]akdimh e G el flx) D
If f(x) continuous on [ a b ] then Si[a b ] b Aala fx) ST
lim f(x) must be equal G o e’ lim flx)
X -a* x=aqt
\" f(b) “|

fla)
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fiiares senools eanusuurnr  FING the limit for the expression below A D g ) E

12—4
lim 3
x= 24+ x—4x

1
| z \

1 “‘
| ; \
| : |
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Simplify SN sl i,

| 12 8
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Select the number that can replace A and Caall Jais A Sadaisy So ol el gl
the table still defines as a function. Al

1 j [ 4 17 j
* ) ( . )
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What is the x-coordinate of the point of il illadl adalis ddaiil x Y JSlaaY L
intersection for the two equations shown
below?

y=x2-2x-5

y=x>-2x*-5x-9

Answer: () Ay
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it fx) =12x - 2| 5100 =]2x = 2] 481
¢-3 x«lI 2 . 3

and {x}=[x .1 . x <]

v dx + 1 x21 & glx) [4x+l x21

then (fog) (2) =7 §=(feg)(2)

| s )
| 24 “'|
!

g A
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For which of the following values of x does e sl Aoz pl) AL ) K0 X0 i e A Y
the function shown below have a horizontal
tangent line?
)= <2
H‘ F—
X2 -1
| =t
x=0 1, or-1
x=0
x=10r-1

I""'--|_--"'
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% Which function has a slant (an oblique) e it dua e (558 I S L s
i"ﬂfi::ﬂ i-:i-m-m.::‘:;:.:-mmm asWNUtE? f (J—“"“'} ey -l

Ix?

flx)=
‘ x?—1
5 N
fx)= 12X
x
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How could the following equation be factored Mol daul A Al Jlas o Su Bl
to find the zeros?

0=x>-3x - 4x

1 O=x(x+1)(x-4) x=0,-14 |

1:3 0=x%x-4), x=0,4 ﬂ']

0=x(x+1)x+6), x=0-1.-6 |

O0=3x(x+1)(x+4) x=0 -1 -4
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x3-2x%+3
lim
x=o4x3 #5x =1




. flx)=3x* + bx + 12 defines a function on 20 b s flx)=3x2 + bx + 12 o)A 2l
TAMRATES SCHOOLS ESTABRIMMAT the real ine and b is a real number The AN Sa e a aap il Jaldl ddas el
graph below shows part of the function
T F(S) Al L0 ) S D e g
What is a possible value of f{5)7
¥
vy = f{x)
0 | 3 s o
27 | 67

15 | | 72
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Evaluate to e A 2o gl

flx)=v2x+5
glx)=6x-3

g(f(10)) = )
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What is the best model for the relationship Roe MW o8 om Al 23 g Jeatl g
between weight, w, and time, ?

"' F w=4"+5 %' ‘ ‘ w=8(.75)" ‘

w=5(2.1) w=(1.4)+2
| | |
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What does ! equal if
ae®=c,a>0,b>0, c>07?

ae”=c,a>0,b>0,c>0 S 13t 5 s 10e

em— s
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Find tAad g

lim loglx) =?

e




